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MONTHLY TEST – JANUARY, 2024 
 

1. Assertion (A): Shade and water are not pleasant, (if) they cause disease 
Reason (R): qualities of one's relations not agreeable, they cause pain. 
a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A): ,d;gk; jUk; epoYk; ePUk; Neha; nra;tdthf ,Ue;jhy;  
     jPadNt MFk;.  
fhuzk; (R): Rw;wj;jhhpd; jd;ikfSk; Jd;gk; jUkhdhy; jPadNt  
  MFk;.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpilnjhpatpy;iy  

 
2. Consider the following statements 

1. Fear not foes who say they would cut like a sword 
2. Fear the friendship of foes (who seemingly act) like relations. 
a. 1 correct but 2 incorrect b. 1 incorrect but 2 correct 
c. 1 and 2 correct   d. 1 and 2 incorrect 
e. answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. thisg;Nghy; ntspg;gilahd gifth;;f;F mQ;rNtz;bajpy;iy. 
2. cwtpdiug; Nghy ,Ue;J cl;gif nfhz;lthpd; njhlh;Gf;F mQ;r 

Ntz;Lk; 
a. 1 rhp Mdhy; 2 jtW  b. 1 jtW Mdhy; 2 rhp 

c. 1 kw;Wk; 2 rhp   d. 1 kw;Wk; 2 jtW 
e. tpil njhpatpy;iy 
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3. Choose the correct statement regarding Dada Saheb Phalke Award 
1) 1st Awardee - Devika Rani   - 1969 
2) 52nd Awardee - Asha Parekh  - 2020 
3) 53rd Awardee - Waheeda Rehman  - 2021 
4) 45th Awardee - Sampooran Singh Kalra - 2013 
a. 1, 4    b. 1, 2, 3    c. 1, 3, 4  
d. All of the above  e. Answer not known 
jhjh rhNfg; ghy;Nf tpUJ Fwpj;j rhpahd $w;Wfis Njh;f 
1. Kjy; tpUJ ngw;wth; - Njtpfh uhzp  - 1969 
2. 52tJ tpUJ ngw;wth; - M~h gNuf;  - 2020 
3. 53tJ tpUJ ngw;wth; - th`pjh nu`;khd; - 2021 
4. 45tJ tpUJ ngw;wth; - rk;g+uz; rpq; fy;uh - 2013 
a. 1> 4   b. 1> 2> 3    c. 1> 3> 4 
d. ,it midj;Jk; e. tpil njhpatpy;iy 
 

4. A wheel makes 1000 revolutions in covering a distance of 88 km. Find the 
radius of the wheel  
a. 13 m   b. 12 m   c. 11 m   
d. 14 m  e. Answer not known 
88 fp.kP njhiyT nry;tjw;F xU rf;fuk; 1000 Rw;Wfs; 
vLj;Jf;nfhs;fpwJ.  mr;rf;fuj;jpd; Muk; fhz;f.  
a. 13 m   b. 12 m   c. 11 m   
d. 14 m  e. tpil njhpatpy;iy 
 

5. Consider the following statements 
1. A star has its own light and heat. 
2. The nearest star to earth is the sun. 
3. Sirius is brighter star than the sun. 
4. Proxima centauri is the closest star to the sun. 
a. 2, 3, 4 are correct b. 1, 2, 3 are correct c. 1, 2, 4 are correct 
d. All are correct  e. Answer not known 
gpd;tUk; $w;Wfisf; fUJf. 
1. xU el;rj;jpuj;jpw;F Rakhd ntspr;rk; kw;Wk; ntg;gk; cs;sJ. 
2. G+kpf;F kpf mUfpy; cs;s tPz;kPd; #hpad;. 
3. #hpaid tpl gpufhrkhd tpz;kPd; rphpa]; MFk;.  
4. #hpaDf;F kpf mUfpy; cs;s tpz;kPd; gpuhf;]pkh nrd;lh MFk;. 
a. 2, 3, 4 rhp   b. 1, 2, 3 rhp   c. 1, 2, 4 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

6. By Mass, Sun is made up of about _____ 
a. 66.6% hydrogen, 31.4% helium and 2% other gases 
b. 74.6% Nitrogen, 23.4% helium and 2% other gases 
c. 70.6% hydrogen, 27.4% helium and 2% other gases 
d. 72.6% hydrogen, 25.4% helium and 2% other gases 
e. Answer not known 
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epiwastpy; #hpad; ____ My;  MdJ. 

a. 66.6% i`l;u[d;> 31.4% `Pypak; kw;Wk; 2% gpw thAf;fs; 
b. 74.6% iel;u[d;> 23.4% `Pypak; kw;Wk; 2% gpw thAf;fs; 
c. 70.6% i`l;u[d;> 27.4% `Pypak; kw;Wk; 2% gpw thAf;fs; 
d. 72.6% i`l;u[d;> 25.4% `Pypak; kw;Wk; 2% gpw thAf;fs; 
e. tpil njhpatpy;iy 

 
7. Consider the following statements. 

1. 60% of our population depends upon agriculture for their livelihood. 
2. 17% of our GDP is contributed by agricultural sector. 
3. Green revolution made agriculture self-sufficient and surplus 

production. 
Which of above are correct? 
a. 1, 2   b. 1, 2, 3   c. 2, 3 
d. 1, 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ekJ kf;fspy; 60% Ngh; jq;fs; tho;f;if Mjhukhf Ntshz;ikapy; 

<LgLfpwhh;fs; 
2. ekJ GDP-apy; 17% gq;if Ntshz;Jiw mspf;fpwJ 
3. gRik Gul;rpahy; Ntshz;ik jd;dpiwitAk; cghp cw;gj;jpiaAk; 

mile;Js;sJ 
Nkw;$wpatw;wpy; rhpahdit vit? 
a. 1, 2   b. 1, 2, 3   c. 2, 3 
d. 1, 3   e. tpil njhpatpy;iy 

 
8. The perimeters of two squares are 40 cm and 32 cm. Find the perimeter of 

a third square whose area is equal to the difference of the areas of the two 
squares.  
a. 28 cm  b. 14 cm   d. 10 cm   
d. 24 cm   e. Answer not known 
,uz;L rJuq;fspd; Rw;wsT 40 nr.kP kw;Wk; 32 nr.kP MFk;. %d;whk; 
rJuj;jpd; gug;gsT kw;w ,U rJuq;fspd; gug;gstpd; tpj;jpahrj;jpw;F 
rkk; vdpy; %d;whk; rJuj;jpd; Rw;wsT vd;d?  
a. 28 cm  b. 14 cm   d. 10 cm   
d. 24 cm  e. tpil njhpatpy;iy 

 
9. Which of following is not correct? 

a. India is typical example of mixed economy. 
b. India stands third in terms of purchasing power parity. 
c. India’s is world’s fastest growing economy with rate of 7.1% 
d. The service sector contributes major share of GDP in India. 
e. Answer not known 

gpd;tUtdtw;Ws; jtwhdJ vJ? 
a. fyg;G nghUshjhuj;jpw;F ,e;jpah xU rpwej vLj;Jf;fhl;lhFk 
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b. thq;Fk; jpwd; rkepiyg;gb> ,e;jpah %d;whtJ ,lj;jpy; cs;sJ 
c. 7.1% tsh;r;rp tPjj;Jld; ,e;jpah cyfpd; kpf Ntfkhf tsh;e;J 

tUk; nghUshjhukhf cs;sJ 
d. ,e;jpahtpd; GDP -apy; gzpfs; Jiw ngUk; gq;if mspf;fpwJ 

e. tpil njhpatpy;iy 
 

10. Consider the following statements. 
1. The literacy rate of India is 74.04% 
2. Sri Lanka has higher literacy rate than India. 
3. Uttar Pradesh has lowest literacy rate. 
4. Tamil Nadu has highest literacy rate. 
Which of above are correct? 
a. 1 only   b. 1, 2    c. 1, 2, 3, 4 
d. 1, 2, 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpahtpd; vOj;jwpT tpfpjk; 74.04% MFk; 
2. ,yq;ifapd; vOj;jwpT tpfpjk; ,e;jpahittpl mjpfkhf cs;sJ 
3. cj;jpu gpuNjrk; Fiwe;jgl;r vOj;jwpT tpfpjk; nfhz;Ls;sJ 
4. jkpo;ehL mjpfgl;r vOj;jwpT tpfpjj;ijf; nfhz;Ls;sJ 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 kl;Lk;  b. 1> 2    c. 1> 2> 3> 4 
d. 1> 2> 3  e. tpil njhpatpy;iy 

 
11. Which of the following is not correct? 

a. India’s sea route to Europe started after arrival of Vascodagama. 
b. In 1601, Sir Thomas Roe was successful in getting permission from 

Jehangir. 
c. 1601, The East India Company chartered and English began their 

first inroads into Indian ocean. 
d. In 1858, British parliament passed a law through which the power 

for governance of India was transferred from EIC to British crown. 
e. Answer not known 

gpd;tUtdtw;Ws; jtwhdJ vJ? 
a. ,e;jpahtpw;F INuhg;ghTldhd fly; thzpfk; th];Nfhlfhkh 

te;jgpwNf Muk;gpj;jJ 
b. 1601 y; rh; jhk]; Nuh [`hq;fPhplkpUe;J mDkjp ngWtjpy; ntw;wp 

ngw;whh; 
c. 1601 y; fpof;fpe;jpa fk;ngdp Muk;gpf;fg;gl;L Mq;fpNyah;fs; ,e;jpa 

ngUq;fly; top thzpgj;ijj; njhlq;fpdh; 
d. 1858y;> Mq;fpy ghuhSkd;wk;> ,e;jpahit MSk; mjpfhuj;ij 

fpof;fpe;jpa fk;ngdpaplkpUe;J Mq;fpy muRf;F khw;wp xU rl;lk; 
,aw;wpaJ 

e. tpil njhpatpy;iy 
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12. Total surface area of a solid hemisphere is 675  sq.cm. Find the curved 
surface area of the solid hemisphere. 
a. 450 sq.cm   b. 450 sq.cm  c. 225   sq.cm 
d. 225 sq.cm   e. Answer not known 
xU jpz;k miuf;Nfhsj;jpd; nkhj;j Gwg;gug;G 675  r.nr.kP. vdpy; mjd; 
tisgug;igf; fhz;f. 
a. 450 r.nr.kP   b. 450  r.nr.kP  c. 225   r.nr.kP 
d. 225 r.nr.kP   e. tpil njhpatpy;iy 

 
13. Choose correctly matched pair. 

1. Period of financial capital – 1757-1813 
2. Period of merchant capital – 1813-1858 
3. Period of industrial capital – 2nd half of 19th century. 
Which of the above are correct? 
a. 1, 2   b. 1, 3    c. 2, 3 
d. None   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf. 
1. epjp %yjdf; fhyk; - 1757 Kjy; 1813 
2. tzpf %yjdf; fhyk; - 1813 Kjy; 1858 
3. njhopy; %yjdf; fhyk; - 19 Mk; E}w;whz;bd; ,uz;lhk; ghjp 
Nkw;fz;ltw;Ws; rhpahdit vit 
a. 1, 2   b. 1, 3    c. 2, 3 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
14. Consider the following statements. 

1. Before green revolution, India depended on food grains exported 
from US using PL-840 law. 

2. Demand for labour increased after green revolution. 
Which of above are correct? 
a. 1 is correct  b. 2 is correct   c. Both are correct 
d. Both are wrong e. Answer not known 
gpd;tUk; $w;Wfis Ma;f 
1. gRikg; Gul;rpf;F Kd;G> If;fpa mnkhpf;f ehLfspd; PL – 840 

rl;lg;gb ,e;jpahtpw;F Vw;Wkjp nra;ag;gl;l czT jhdpaq;fisr; 
rhh;e;Nj ,e;jpah ,Ue;jJ 

2. gRikg; Gul;rpf;Fg; gpwF> ciog;gpw;fhd Njit mjpfhpj;jJ 
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 
15. Find out the correct statements. 

1. In 2000, 168 governments and all leading development and 
humanitarian actors signed the Hyogo Framework for Action (HFA). 
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2. It is a twenty-year multi-stakeholder and multi-sector plan to invest 
in disaster risk reduction. 

a. 1 only   b. 2 only    c. Both 1 & 2 are correct 
d. None of these  e. Answer not known 
rhpahd $w;iw Njh;e;njL 
1. 2000y; 168 ehLfs;> tsh;r;rp kw;Wk; kdpjNeak; rhh;e;j vy;yh 

epWtdq;fSk; fpA+Nfh nray;jpl;l tiutpy; ifnaOj;jpl;ld. 
2. ,J Nghplh; mghaf; Fiwg;Gf;fhf KjyPL nra;a gy;NtW 

epWtdq;fs; ifnaOj;jpl;l ,UgJ Mz;LfSf;fhd gy;Jiw 
jpl;lkhFk;. 

a. 1 kl;Lk;   b. 2 kl;Lk;      c. 1 kw;Wk; 2 rhp 
d. vJTkpy;iy  e. tpil njhpatpy;iy 

 
 

16. A toy is in the shape of a hemisphere surmounted by a cone. If radius of 
base of the cone is 3 cm and its height is 4cm. Total surface area of the toy 
is 
a.33  cm2    b. 42  cm2    c. 66  cm2  
d. 56  cm2   e. Answer not known 

xU nghk;ikahdJ miuf;Nfhsj;jpd;Nky; $k;G ,ize;j tbtpy; 
cs;sJ. $k;gpd; mbg;gFjpapd; Muk; 3 nr.kP kw;Wk; mjd; cauk; 4 nr.kP 
vdpy;> nghk;ikapd; nkhj;j gug;ig fhz;f. 
a.33  nr.kP 2    b. 42  nr.kP 2   c. 66  nr.kP 
2 
d. 56  nr.kP 2  e. tpil njhpatpy;iy 

 

17. Choose correct statement regarding AVYAY scheme. 
1) AVYAY - Atal Vayo Abhyoday Yojana 
2) AVYAY - Ministry of Finance 
3) Scheme to improve the quality of life of senior citizens 
4) Rastriya Vayoshri Yojana is a component of AVYAY. 
a. 2, 4   b. 2 alone    c. 1, 3, 4  
d. None of the above e. Answer not known 
AVYAY jpl;lk; Fwpj;j rhpahd $w;wpidj;Njh;f 
1. AVYAY - mly; tNah mgpNahja; jpllk; 
2. AVYAY – epjp mikr;rfk; 
3. KjpNahh;fspd; tho;f;ifj; juj;ij cah;j;Jk; jpl;lk; 
4. uh];jpupa tNah];uP Nah[dh vd;gJ AVYAY ,d; xU mq;fkhFk;. 
a. 2, 4   b. 2 kl;Lk;    c. 1, 3, 4 
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 

18. Choose incorrect pair 
1. Jothy Yarraji  - Hurdle 
2. Avinash Sable - Steeplechase 
3. Tajinderpal Toor - Shotput 
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4. Praveen Chitravel - Triple Jump 
a. 1, 2   b. 3, 4    c. 1, 2, 3, 4  
d. None of these  e. Answer not known 
jtwhd ,iziaf; fhz;f 
1. N[hjp ahu;uh[p  - jil jhz;Ljy; 
2. mtpdh~; rhg;Ns - ];Bgps;Nr]; 
3. Nj[pe;jh; ^h;  - rhl;Gl; 
4. gputPd; rpj;jpuNty; - l;hpgps; [k;g; 
a. 1, 2   b. 3, 4     c. 1, 2, 3, 4  
d. ,it VJkpy;iy e. tpil njhpatpy;iy 

 
19. Assertion (A): Though able to win, let not one desire gambling 

Reason (R): Gamblers gain one item in the gamble and lose a hundred 
times as much 

a. A and R are true R is the correct explanation of A 
b. A and R are true R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
$w;W (A): ntw;wpNa ngWtjhdhYk; #jhl;lj;ij tpUk;gf; $lhJ  
fhuzk; (R): #jhbfs; #jpy; xU nghUs; ngw;W E}Wklq;F nghUis 

,oe;JtpLth; 
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;.  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A) f;F rhpahd tpsf;fky;y  
c. (A) jtW Mdhy; (R) rhp  
d. (A) kw;Wk; (R) ,uz;Lk; jtW  

e. tpil njhpatpy;iy  
 

20. Consider the following statements according to IMF. 
1. GDP at current prices in 2016 was $2251 billion. 
2. India contributed 2.99% of total world’s GDP in exchange rate basis. 
3. India was 5th largest economy of the world in 2016 
Which of above are correct? 
a. 1, 2   b. 1, 3    c. 2, 3 
d. 1, 2, 3   e. Answer not known 
gd;dhl;L gz epjpaj;jpd;gb gpd;tUk; $w;Wfis Ma;f: 
1. 2016 y;  GDP ; (elg;G tpiyapy;) $ 2251 gpy;ypad; MFk;. 

2. ehza khw;W tPj mbg;gilapy; cyf nkhj;j GDP kjpg;gpy; 
,e;jpahtpd; gq;F 2.99 % 

3. 2016,y; ,e;jpah cyfpd; Ie;jhtJ nghpa nghUshjhuk; MFk;. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 1, 3    c. 2, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 
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21. Find the volume of a cylinder whose height is 35 cm and whose base area 
is 70 m2 
a.  200 2cm   b. 200 3cm     c. 2450 3m   
d. 24.5 3m   e. Answer not known 
Xu; cUisapd; cauk; 35 nr.kP kw;Wk; mjd; mbg;gug;G 70 kP2> vdpy; 
mjd; fd msT ahJ? 
a.  200 nr.kP2  b. 200 nr.kP3    c. 2450 kP3   
d. 24.5kP3  e. tpil njupatpy;iy 

 
22. Which of the following are important initiatives by government in new 

economic policy. 
1. Industrial delicensing 
2. Foreign investment policy 
3. Abolition of MRTP act 
4. De-reservation of industrial sector 
5. Reforms related to PSE’s 
Which of above are correct? 
a. All   b. 1, 2, 4, 5    c. 1, 2, 3, 4 
d. 2, 3, 4, 5  e. Answer not known 
Gjpa nghUshjhu nfhs;ifapd;gb murhy; Kd;ndLf;fg;gl;l Kf;fpa 
Kaw;rpfs; vit? 
1. njhopy; chpk tpyf;fspj;jy; 
2. me;epa KjyPl;L nfhs;if 
3. MRTP rl;l xopg;G 
4. njhopy;Jiw xJf;fPl;il ePf;Fjy;  
5. nghJj;Jiw epWtdq;fspd; rPh;jpUj;jk;  
Nkw;fz;ltw;Ws; rhpahdit vit? 
a. midj;Jk;  b. 1, 2, 4, 5    c. 1, 2, 3, 4 
d. 2, 3, 4, 5   e. tpil njhpatpy;iy 

 
23. Find out the correct statements. 

1. Lightning is an atmospheric electrostatic discharge (spark) 
accompanied by thunder. 

2. Lightning occurs during thunderstorms, and sometimes during 
volcanic eruptions or dust storms. 

3. Lightning generates 10 – 20 kilo ampere current. 
a. 1, 2   b. 1, 3 only    c. 1 only  
d. all the above  e. Answer not known 
rhpahd $w;iw Njh;e;njL. 
1. ,bAld; $ba tspkz;ly kpd;rhu ntspNaw;wj;ij kpd;dy; 

vd;fpNwhk;. 
2. ,J nghJthf ,bAld; $ba kio kw;Wk; rpy Neuq;fspy; vhpkiy 

ntbg;G my;yJ GOjpg; Gaypd; NghJ Vw;gLfpd;wJ. 
3. kpd;dy; 10 Kjy; 20 fpNyh Mk;gpah; tiu kpd;rhuj;ij 

cUthf;FfpwJ. 
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a. 1, 2    b. 1, 3 kl;Lk;   c. 1 kl;Lk;  
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 
24. Choose correct statement 

1. India recently constituted National Turmeric Board  
2. Largest producing states are Maharashtra, Telangana, Karnataka and 

Tamil Nadu. 
3. India has more than 62% share of world trade in Turmeric. 
a. 1, 2 b. 1, 3  c. 2, 3  d. 1, 2, 3 e. Answer not known 
rhpahd $w;Wfis Njh;f 
1. ,e;jpah rkPgj;jpy; Njrpa kQ;rs; thhpaj;ij mikj;jJ 
2. kfhuh~;buh> njYq;fhdh> fu;ehlfh kw;Wk; jkpo;ehL Mfpait mjpf 

cw;gj;jp nra;Ak; khepyq;fs;. 
3. kQ;rspy; cyf tu;j;jfj;jpy; ,e;jpah 62% gq;iff; nfhz;Ls;sJ. 
a. 1, 2 b. 1, 3  c. 2, 3  d. 1, 2, 3 e. tpil njhpatpy;iy 

 
25. Choose correctly matched pair. 

1. 20 point programme – 1976 
2. Integrated rural development programme – 1980 
3. Food for work programme – 1977 
4. National rural employment programme - 1980  
a.1, 2    b. 1, 3, 4   c. 3, 4 
d. All   e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf: 
1. 20 mk;r jpl;lk;    -1976 
2. xUq;fpize;j Cuf tsh;r;rp jpl;lk; -1980 
3. Ntiyf;F czT jpl;lk;   -1977 
4. Njrpa Cuf Ntiytha;g;G jpl;lk;  -1980 
a.1, 2    b. 1, 3, 4   c. 3, 4 
d. midj;Jk;  e. tpil njhpatpy;iy 

 
26. Consider the following statements: 

i) In 2018 Qatar has the highest male to female ratio in the world.  
ii) As of 2018, the global sex ratio at birth is estimated at 934 girls to 

1000 boys.  
iii) The term cisgender is opposite to transgender 
a. i is correct   b. i and iii are correct  c. i and ii are correct 
d. ii and iii are correct e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
i) cyfpNyNa 2018-y; mjpf Mz; - ngz; tpfpjj;ijf; nfhz;Ls;s 

ehL fj;jhu;. 
ii) cyfstpy; 2018y; gpwg;G ghypd tpfpjk; 934 rpWkpfSf;F 1000 

rpWtu;fs; vd kjpg;gplg;gl;Ls;sJ. 
iii) rp];n[z;lu; vd;Dk; nrhy; jpUeq;if vd;Dk; nrhy;ypw;F vjpu;r;nrhy;. 
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a. i kl;Lk; rup  b. i kw;Wk; iii rup   c. i kw;Wk; ii rup 
d. ii kw;Wk; iii rup  e. tpil njhpatpy;iy 

 
27. Find the length of the rope by which a cow must be tethered in order that 

it may be able to graze an area of 9856 sq.m. 
a. 56 m  b. 52 m    c. 48 m  
d. 46 m  e. Answer not known 
fapw;why; fl;lg;gl;l khL Nka;e;j gFjpapd; gug;gsT 9856 r.kP. vdpy;> 
fapw;wpd; ePsk; fhz;f.  
a. 56 kP  b. 52 kP    c. 48    
d. 46 kP  e. tpil njhpatpy;iy 

 
28. Which of the following statements about Thiruppur is/are correct? 

i) It is located on the banks of the Noyyal River 
ii) It has an average elevation of 295 meters 
iii) Thiruppur bags the fifth fastest growing city in India.  
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; jpUg;G+u; gw;wp rupahdit vit? 
i) ,J neha;ay; Mw;wq;fiuapy; mike;Js;sJ. 
ii) ruhrupahf 295 kPl;lu; cauj;jpy; mike;Js;sJ. 
iii) ,e;jpahtpy; kpf Ntfkhf tsu;e;J tUk; khefuq;fspy; 5-tJ 

,lj;ijg; ngw;Ws;sJ. 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 

 

29. Match the following 
A. fpisQh;  1. Pagaivar 
B. Gj;Njs;   2. Vanavar 
C. xUT   3. Vidudhal 
D. xl;lhh;   4. Nanbar 

A B C D 
a. 2  1 4 3 
b. 1  3 4 2 
c. 4  2 3 1 
d. 4  1 3 2 
nghUj;Jf 
A. fpisQh;  1. gifth; 
B. Gj;Njs;   2. thdth; 

C. xUT   3. tpLjy; 

D. xl;lhh;   4. ez;gh; 
A B C D 

a. 2  1 4 3 
b. 1  3 4 2 
c. 4  2 3 1 
d. 4  1 3 2 
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30. Consider the following statements. 
1. Tamil Nadu stand first in terms of contribution to GDP. 
2. Tamil Nadu is ranked as the most economically free state by the 

economic freedom. 
3. It stands third highest in terms of per capita income in India 
Which of above are correct? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. 1, 2, 3   e. Answer not known 
gpd;tUk; $w;Wf;fis Ma;f: 
1. GDP gq;fspg;gpy; jkpo;ehL Kjyplj;jpy; cs;sJ. 
2. kpf mjpf nghUshjhu Rje;jpu khepykhf jkpo;ehL cs;sJ. 
3. ,e;jpahtpy; jyh tUkhdj;jpy; %d;whtjhf cs;sJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1, 2   b. 2, 3    c. 1, 3 
d. 1, 2, 3   e. tpil njhpatpy;iy 

 
31. Consider the following statements. 

1. Bauxite ores are found at Yercaud. 
2. Molybdenum is found at Karadikuttam, Madurai. 

Which of above are correct? 
a. 1 is correct  b. 2 is correct  c. Both are correct 
d. Both are wrong e. Answer not known 
gpd;tUk; $w;Wf;fis Ma;f: 
1. ghf;irl; jhJf;fs; Vw;fhl;by; fhzg;gLfpd;wd. 
2. khypg;bdk; kJiu khtl;lj;jpYs;s fubf;Fl;lk; vDk; Chpy; 

fhzg;gLfpwJ. 
Nkw;$wpatw;Ws; rhpahdit vit? 
a. 1 rhp   b. 2 rhp   c. ,uz;Lk; rhp 
d. ,uz;Lk; jtW e. tpil njhpatpy;iy 

 
32. Which of the following statements about Voyager I spacecraft is/are 

correct? 
i) It is launched in 1977 by NASA 
ii) Still it is travelling at the speed of 17 km/sec 
iii) The hydrazine is used as fuel in the spacecraft.  
a. i, ii, iii b. i, ii   c. i, iii  d. ii, iii e. Answer not known 
gpd;tUk; $w;Wfspy; thNa[u; I tpz;fyk; gw;wp rupahdit vit? 

i) 1977-,y; ehrh epWtdj;jhy; mDg;gg;gl;lJ. 
ii) nehbf;F 17 fp.kP. Ntfj;jpy; ,d;Wk; gazpj;Jf; nfhz;bUf;fpwJ. 
iii) i`l;uhrpd; vupnghUshfg; gad;gLj;jg;gl;Ls;sJ. 
a. i, ii, iii b. i, ii   c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
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33. The next number in the series is 
2 3 4 5

, , , ,?
5 255 5 5

 

a. 
6

5 5
  b. 

6

25 5
  c. 

6

125
 d. 

7

25
  e. Answer not known 

2 3 4 5
, , , ,?
5 255 5 5

 vd;w njhlhpy; mLj;j vz; 

a. 
6

5 5
  b. 

6

25 5
  c. 

6

125
 d. 

7

25
   e. tpilnjhpatpy;iy 

 
34. Which of the following is/are non-metallic minerals? 

i) Mica   ii) Sulphur    iii) Potash  iv) Lead 
a. i, ii, iii   b. ii, ii i    c. i, iii  
d. all the above  e. Answer not known 
gpd;tUtdtw;Ws; cNyhfky;yhj fdpkq;fs; vit? 
i) ikf;fh  ii) ry;/gu;   iii) nghl;lh~; iv) <ak; 
a. i, ii, iii   b. ii, iii    c. i, iii  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
35. Which of the following statements about manganese is/are correct? 

i) It is a kind of ferro-alloy used to manufacture the special quality 
steel.  

ii) Nearly 10kg of manganese is used for making one ton of steel  
iii) It makes steel anti-corrosive, hard and clean 
a. i, ii    b. i, iii    c. ii, iii  
d. i, ii, iii   e. Answer not known 
gpd;tUk; $w;Wfspy; khq;fdP]; gw;wp rupahdit vit? 
i) ,JkpfTk; jukpf;f v/if cw;gj;jp nra;a gad;gLfpd;w xU 

tifahd cNyhff;fyit. 
ii) xU ld; v/F cUthf;f Rkhu; 10 fpNyh khq;fdP]; 

gad;gLj;jg;gLfpd;wJ. 
iii) ,J ,Uk;ig cWjpg;gLj;jTk;> Rj;jg;gLj;jTk;> mupg;igj; jLf;fTk; 

cjTfpwJ. 
a. i, ii    b. i, iii    c. ii, iii  
d. i, ii, iii   e. tpil njhpatpy;iy 

 
36. “For one, his greatness is in his character’ – Find out the Kural which 

conveys the above meaning 
a. All men that live are one in circumstances of birth; 

Diversities of works give each his special worth. 
b. The men of lofty line, whose souls are mean, are never great 

The men of lowly birth, when high of soul, are not of low estate. 
c. Like single-hearted women, greatness too, 

Exists while to itself is true. 
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d. The man endowed with greatness true, 
Rare deeds in perfect wise will do. 

e. Answer not known 
xUtUf;Fg; ngUik Fzj;jhy; tUk; - ,jw;F nghUj;jkhd Fwis 
Njh;e;njLf;f. 
a. gpwg;nghf;Fk; vy;yh caph;f;Fk; rpwg;nght;th 

nra;njhopy; Ntw;Wik ahd; 
b. NkypUe;Jk; Nkyy;yhh; Nkyy;yh; fPopUe;Jk; 

fPoy;yhh; fPoy; yth; 
c. xUik kfspNu Nghyg; ngUikAk; 

jd;idj;jhd; nfhz;nlhOfpd; cz;L 
d. ngUik Ailath; Mw;Wthh; Mw;wpd;  

mUik cila nray; 
e. tpil njhpatpy;iy 

 
37. Which of the following statements about copper is/are incorrect? 

i) It is a non-ferrous soft brown metal 
ii) It is a good conductor of electricity 
iii) The chief ore of copper is cuprite  
a. i and ii  b. i and iii    c. ii only   
d. iii only  e. Answer not known 
gpd;tUk; $w;Wfspy; jhkpuk; gw;wp jtwhdit vit? 
i) ,J ,Uk;G ,y;yhj nkd;ikahd gOg;G cNyhfk;  
ii) ,J kpfr;rpwe;j kpd;flj;jp. 
iii) jhkpuj;jpd; Kjd;ikahd jhJ Fg;iul;. 
a. i kw;Wk; ii  b. i kw;Wk; iii    c. ii kl;Lk;   

d. iii kl;Lk;  e. tpil njhpatpy;iy 
  

38. The sum of the first 99 terms of the series 
3 5 7 9

...........
4 36 144 400
+ + + +  

a. 
99

100
   b. 

999

1000
   c. 

9999

10000
   

d. 1   e. Answer not known 

njhlhpy; Kjy; 99 cWg;Gfspd; $Ljy; fhz;f. 
3 5 7 9

...........
4 36 144 400
+ + + +  

a. 
99

100
   b. 

999

1000
   c. 

9999

10000
   

d. 1   e. tpil njhpatpy;iy 
 

39. Match the following: 
Coal     Carbon Content (%) 

 A. Bituminous - 1. 30 – 35% 
 B. Peat   - 2. 35 – 45% 
 C. Lignite   - 3. 70 – 90% 
 D. Anthracite  - 4. >95% 
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  A B C D 
 a. 1 2 3 4 
 b. 2 1 4 3 
 c. 3 1 2 4 
 d.  1 2 4 3 

e. Answer not known 
nghUj;Jf. 
epyf;fup   fhu;gdpd; msT (%) 

A. gpl;Lkpd];  1. 30-35% 
B. gPl;    2. 35-45% 
C. ypf;idl;   3. 70-90% 

D. Me;j;uhirl;  4. >90% 
  A B C D 
a.  1 2 3 4 
b.  2 1 4 3 
c.  3 1 2 4 
d.   1 2 4 3 
e. tpil njhpatpy;iy 

 
40. What are the five pillars on which perfect goodness rests? 

1. Affection  2. Fear 3. Benevolence 4. Favour 5. veracity 
a. 1, 2, 5  b. 1, 2, 4     c. 1, 2, 3   
d. 1, 2, 3, 4, 5 e. Answer not known 
rhy;G vd;Dk; ghuj;ij jhq;fpa J}z;fs; vit?  
1. md;G  2. ehzk;  3. xg;GuT  4. fz;Ndhl;lk;  5. tha;ik 
a. 1, 2, 5  b. 1, 2, 4     c. 1, 2, 3   
d. 1, 2, 3, 4, 5  e. tpil njhpatpy;iy 

 
41. Choose the correct statements about Disposable Income. 

i. It is also known as Disposable Personal income. 
ii. It is the individuals income before the payment of income tax. 
iii. This is the amount available for households for consumption. 
a. i, ii   b. ii, iii    c. i, iii   
d. i, ii, iii  e. Answer not known 
nrytplf;$ba tUkhdk; gw;wp rupahd $w;Wfs; vit? 
i. ,J jdpegu; nrytplf;$ba tUkhdj;ij Fwpf;fpwJ. 
ii. tUkhd tup nrYj;Jtjw;F Kd; cs;s jdpegu;fspd; tUkhdk;. 
iii. ,e;j tUkhdk; jhd; jdpegu;fs; Efu;Tf;fhf nrytplf;$ba gz 

msT. 
a. i, ii   b. ii, iii    c. i, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 
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42. Choose the correct statements. 
i. GDP deflator is an index of price changes of goods and services 

included in GDP. 

ii. GDP deflator = 
Nominal GDP

Real GDP
 × 100 

a. i, ii    b. i only    c. ii only  
d. none   e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. GDP Fiwg;ghd; vd;gJ GDP apy; Fwpg;gpl;Ls;s gz;lq;fs; kw;Wk; 

gzpfspd; tpiykhw;w FwpaPl;nlz;. 

ii. GDP Fiwg;ghd; = 
GDP

GDP

gzkjpg; G 

cz;ik 
× 100 

a. i, ii    b. i kl;Lk;    c. ii kl;Lk;  
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
43. Which of the following is/are correctly matched? 

i) Jhuming/Bewar - North Eastern States of India  

ii) Ladang   - Singapore  

iii) Chengin  - Philippines  
a. i, ii and iii  b. i and ii    c. i and iii 
d. i only   e. Answer not known 
gpd;tUtdtw;Ws; rhpahd ,izia fz;lwpf. 
i. [_kpq;/gPth;  - ,e;jpahtpd; tlfpof;F khepyq;fs; 
ii. ylhq;   - rpq;fg;G+h; 
iii. nrq;fpd;   - gpypg;igd;]; 

a. i, ii & iii   b. i & ii    c. i & iii  
d. i kl;Lk;   e. tpil njhpatpy;iy 

 

44. How many two digit numbers are divisible by 13? 
a. 6  b. 7  c. 8  d. 9  e. Answer not known 
13 My; tFgLk; <hpyf;f vz;fspd; vz;zpf;ifiaf; fhz;f. 
a. 6  b. 7  c. 8  d. 9  e. tpil njhpatpy;iy 

 

45. Which of the following statements about In-situ mining is/are correct? 
i) It is also called as solution mining.  
ii) This method is used most in mining Uranium deposits  
a. i, ii   b. i only    c. ii only  
d. none  e. Answer not known 
,d;-rpl;L Ruq;fj;ijg; gw;wpa gpd;tUk; $w;Wfspy; vJ/vit rhpahdJ? 
i. ,J fiury;Kiw Ruq;fq;fs; vd miof;fg;gLfpwJ. 
ii. ngUk;ghYk; ,k;Kiw ANudpa gbTfs; fhzg;gLk; ,lq;fspy; 
gpd;gw;wg;gLfpwJ. 
a. i, ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy e. tpil njhpatpy;iy 
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46. Which of the following statements is/are correct? 
i. The gold standard is also known as managed currency standard. 
ii. The quantity of money in circulation is controlled by the monetary 

authority to maintain price stability. 
iii. Plastic money is one of the most evolved forms of financial products. 
a. i, ii, iii   b. i, ii     c. ii, iii  
d. i, iii   e. Answer not known 
gpd;tUk; $w;Wfspy; rupahdit vit? 
i. nghd;jpl;lk; epu;tfpf;fg;gLk; gzj;jpl;lk; vd;Wk; miof;fg;gLfpd;wJ. 
ii. tpiythrpia epiyg;gLj;Jk; Nehf;fpy; Gof;fj;jpYs;s gz mstpid 

ehl;bd; cr;repiy mjpfhu mikg;ghd ikatq;fp fl;Lg;gLj;JfpwJ. 
iii. nefpopg;gzk; epjpg;ghUl;fspd; tupirapy; kpf Kf;fpaj;Jtk; tha;e;j 

xU Njhw;wkhFk;. 
a. i, ii, iii   b. i, ii     c. ii, iii  
d. i, iii   e. tpil njhpatpy;iy 

 
47. Which of the following statements about alternative measures of money 

supply is/are correct? 
i. M1 = Currency, coins and demand deposits. 
ii. M2 = M1 + Time deposits of all commercial and cooperative banks. 
iii. M3 = M2 + Savings deposits with post office saving bank. 
iv. M4 = M3 + Total deposits with post offices. 
a. i and ii    b. iii and iv   c. i and iv  
d. all the above   e. Answer not known 
gpd;tUk; $w;Wfspy; gzmstPLfs; gw;wpa rupahd $w;Wfs; vit? 
i. M1 =  fhfpjg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 
ii. M3 = M1 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s 

fhy itg;Gfs;. 
iii. M3 = M2 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 
iv. M4 = M3 + mQ;ryfj;jpYs;s midj;J itg;Gfs;. 
a. i kw;Wk; ii    b. iii kw;Wk; iv  c. i kw;Wk; iv  
d. Nkw;$wpa midj;Jk;  e. tpil njhpatpy;iy 

 
48. Choose the correct statements about Teritory sector 

i) Trade, Commerce, Transport and Communication are the categories 
of tertiary sector 

ii) It is further divided into quaternary and quinary sector  
a. i, ii    b. i only    c. ii only  
d. none   e. Answer not known 
%d;whk; epiyj; njhopy;fs; Fwpj;j rhpahd thf;fpaq;fis Njh;T nra;f. 
i. tzpfk;> th;j;jfk;> Nghf;Ftuj;J> njhiyj;njhlh;G (k) Nritfs; 

Mfpait %d;whk;epiyj; njhopy;fshFk;. 
ii. %d;whk; epiyj; njhopy;fs; NkYk; ehd;fhk; (k) Ie;jhk; epiyj; 

njhopy;fs; vd;W tifg;gLj;jg;gLfpd;wd. 



 

17 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

a. i, ii    b. i kl;Lk;    c. ii kl;Lk;  
d. VJkpy;iy  e. tpil njhpatpy;iy 

 
49. Next term in the sequence 3,7,13,21,31 is  

a. 39  b. 41  c. 43  d. 45  e. Answer not known 
3,7,13,21,31 vd;w njhlhpy; mLj;j cWg;G 
a. 39  b. 41  c. 43  d. 45  e. tpil njhpatpy;iy 

 
50. Consider the following statements: 

I. Language is the primary instrument for transmitting culture. 
II. India has the world’s second highest number of languages after 

Papua New Guinea 
a. I, II correct   b. I only correct   c. II only correct   
d. I, II incorrect  e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;fTk;. 
I. nkhop fyhr;rhuj;ij gug;Gk; xU gpujhd fUtpahFk;. 
II. gg;Gth epA+ fpdpahtpw;F gpwF> ,e;jpah cyfpd; ,uz;lhtJ mjpf 

nkhopfisf; nfhz;l ehlhFk;. 
a. I, II rhp   b. I kl;Lk; rhp  c. II kl;Lk; rhp  
d. I, II jtW   e. tpil njhpatpy;iy 

 
51. Choose the correct statement regarding My Bharat Scheme  

1. Launched on October 31, 2023 
2. Objective: Youth in Nation building process 
a. 1 alone   b. 2 alone   c. Both 1 & 2 
d. Neither 1 nor 2  e. Answer not known 
vdJ ghujk; jpl;lk; Fwpj;j rhpahd $w;wpidj; Njh;f 
1. mf;Nlhgh; 31> 2023 md;W Njhw;Wtpf;fg;gl;lJ 
2. Nehf;fk;: Njr cUthf;fj;jpy; ,isQh;fs; 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. ,uz;Lk; my;y  e. tpil njhpatpy;iy 

 

52. Choose the correct statements: 

i. Imperial Bank of India was established in 1921.  

ii. It was changed into State Bank of India in 1949. 

iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii   b. i, ii    c. i, iii   
d. ii, iii   e. Answer not known 
rupahd $w;wpidj; Nju;e;njL. 
i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 
ii. ,J 1949-,y; ghuj];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii   b. i, ii    c. i, iii   
d. ii, iii   e. tpil njhpatpy;iy 
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53. Consider the following statements 
Assertion (A):  RBI acts as the Banker to the government  
Reason (R):  It collects receipts of funds and makes payments on  

   behalf of the government.  
a. Both (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true but, (R) is false  
c. (A) is False but, (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A): RBI, muRf;fhd tq;fpahfr; nray;gLfpwJ. 

fhuzk; (R):,J murpw;fhd epjp tUthiag; ngw;Wf; nfhs;Sjy;  kw;Wk;  
murpd; nrytpdq;fSf;Fg; gzk; toq;Fjiyr; nra;fpwJ. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
54. Which one of the following is a pair of co-primes? 

a. (16, 62)  b. (18, 25)    c. (21, 35)  
d. (23, 92)  e. Answer not known 
gpd;tUtdtw;Ws; ve;j xU Nrhb vz;fs; rhh;gfh vz;fs;? 
a. (16, 62)  b. (18, 25)    c. (21, 35)  
d. (23, 92)  e. tpil njhpatpy;iy 

 
55. Choose the incorrect statements about Dravidians: 

i) The five major ethnic groups of Dravidian people in India are Tamil, 
Telugu, Kannada, Malayalam and Thoda.  

ii) Arabic Script Brahui is the only Dravidian language which is not 
known to have been written in a Brahmi based script.  

a. i, ii   b. i only    c. ii only   
d. none  e. Answer not known 
jpuhtplh;fs; Fwpj;j $w;Wfspy; jtwhdit vJ? 
i. ,e;jpahtpy; jpuhtpl ,df;FO jkpo;> njYq;F> fd;dlk;> kiyahsk; 

(k) Njhlh Mfpa 5 Kf;fpa gphpTfis nfhz;Ls;sJ. 
ii. gpuhkp vOj;J tbtpy; vOjg;glhj xNu jpuhtpl nkhop mNugpa 

vOj;jhd gpu`p nkhopjhd; 
a. i, ii   b. i kl;Lk;    c. ii kl;Lk;   
d. VJkpy;iy e. tpil njhpatpy;iy 
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56. According to The World University rankings 2024, the best institute from 
India is ____. 
a. IIT, Madras  b. IISC, Bengaluru  c. IIT, Bombay 
d. IIT, Kharagpur  e. Answer not known 
cyf gy;fiyf;fof jutupir 2024 ,d; gb> ,e;jpahtpd; rpwe;j fy;tp 
epWtdk; ______ MFk;. 

a. IIT, nrd;id  b. IISC, ngq;f@U   c. IIT, Kk;ig 
d. IIT, fuf;g+h;  e. tpil njhpatpy;iy 

 
57. Consider the following statements. 

Assertion (A): Movements of goods are also known as visible trade. 
Reason (R): The movement of commodities between countries can be 

seen by eyes and felt by hands and can be verified physically by 
custom authorities of a country. 

a. Both (A) and (R) are true and (R) is the correct explanation of (A)  
b. (A) is true but (R) is false  
c. (A) is false but (R) is true  
d. Both (A) and (R) are true and (R) is not the correct explanation of (A)  
e. Answer not known 
gpd;tUtdtw;iw Muha;f. 
$w;W (A):nghUl;fs; Vw;Wkjp ,wf;Fkjpia Gyg;gLk; thzpfk; vdTk; 

miof;fyhk;. 
fhuzk; (R): xU ehl;bd; Rq;f mjpfhhpfshy; nghUl;fis fz;zhy; 

fhzTk; njhl;LzuTk; KbAk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
58. The components of Balance of payments includes. 

i. Current account 
ii. Capital account 
iii. Official Settlements account 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. Answer not known 
may;ehl;Lr; nrYj;jepiyapd; $Wfs; vit? 
i. elg;G fzf;F 
ii. %yjd fzf;F 
iii. ika tq;fp jPu;T fzf;F 
a. i, ii, iii b. i, ii  c. i, iii  d. ii, iii e. tpil njhpatpy;iy 
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59. The objective of Foreign Direct Investment  
i. Sales expansion 
ii. Acquisition of Resources 
iii. Diversification 
iv. Minimization of competitive risk 
a. i and ii   b. iii and iv    c. i, ii and iv  
d. All the above  e. Answer not known 
ntspehl;L Neub %yjdj;jpd; Nehf;fq;fs;? 
i. tpw;gidia tpupTgLj;Jjy; 
ii. ,aw;if tsq;fis ifafg;gLj;Jjy; 
iii. thzpf gutyhf;fk; 
iv. Nghl;b ,lu;fisf; Fiwj;jy;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv  c. i, ii kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 

 
60. The smallest number which is exactly divisible by all the numbers from 1 

to 9 
a. 1260 b. 2520 c. 5040 d. 9000 e. Answer not known 
1 ,ypUe;J 9 tiuapyhd midj;J vz;fshYk; tFg;gLk; kpfr;rpwpa vz; 
a. 1260 b. 2520 c. 5040 d. 9000 e. tpil njhpatpy;iy 

 
61. Consider the following statements: 

I. The Ariane Passenger Payload Experiment (APPLE) was ISRO’s First 
indigenous experimental communication satellite.  

II. India is the only one country which has reached to the mars in its 
first attempt. 

a. I, II are correct   b. I only is correct   c. II only is correct  
d. Both are incorrect  e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdp:  
i. Vhpad; gazpfs; NgNyhl; ghpNrhjid (APPLE) vd;gJ ,];Nuhthy; 

Nrhjid mbg;gilapy; nrYj;jg;gl;;l Kjy; cs;ehl;L jfty; 
njhlh;G nraw;iff; NfhshFk;.  

ii. jd; Kjy; Kaw;rpapNyNa nrt;tha; fpufj;ij nrd;wile;j xNu ehL 
,ej;pahthFk;.  

a. I, II ,uz;Lk; rhp b. I kl;Lk; rhp   c. II kl;Lk; rhp  
 d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 

 
62. Which of the following statements about GPS is/are correct? 

i) GPS was the first GNSS system  
ii) It was launched by United States Department of Science 
iii) It uses a constellation of 24 satellites and provides global coverage. 
a. i, ii and iii  b. i and iii    c. ii and iii  
d. ii only   e. Answer not known 
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GPS Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,J Gtpapd; Kjy; GNSS mikg;G GPS MFk; 

ii. ,J mnkhpf;f If;fpa ehLfspd mwptpay; Jiwahy; Vtg;gl;lJ 
iii. ,f;FOkk; 24 nraw;if Nfhs;fSld; KO Gtpg;gug;igAk; nray; 

vy;iyahff; nfhz;lJ.  
a. i, ii kw;Wk; iii   b. i kw;Wk; iii   c. ii kw;Wk; iii  

d. ii kl;Lk;   e. tpil njhpatpy;iy 
 

63. Choose the correct statements about IRNSS 
i) It is an autonomous global satellite navigation system.  
ii) It was developed by ISRO 
iii) It provides location information service to users in India and the 

region extending for upto 1500km from the Indian boundary.  
a. i, ii and iii  b. i and ii    c. ii and iii  
d. i and iii   e. Answer not known 
IRNSS Fwpj;j $w;Wfspy; rhpahdJ vJ?  

i. ,J jd;dhl;rp cyfshtpa topfhl;L nraw;ifNfhs; mikg;ghFk;  
ii. ISRO – thy; cUthf;fg;gl;lJ 

iii. ,J ,e;jpah kw;Wk; ,e;jpahit Rw;wp 1500 fp.kP njhiytpy; 
mike;Js;s gFjpfSf;F jd; Nritia mspf;fpwJ. 

a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. ii kw;Wk; iii 
 d. i kw;Wk; iii   e. tpil njhpatpy;iy 
 

64. Choose incorrect pair 
1. October 7  - World Cotton Day 
2. October 7  - Nilgiri Tahr Day 
3. August 7  - Javelin Day 
4. August 7  - National Handloom Day 
a. 1, 2, 3   b. 2, 3, 4   c. 1, 2, 3, 4 
d. None of these  e. Answer not known 
jtwhd ,iziaf; fhz;f 
1. mf;Nlhgh; 7 - cyf gUj;jp jpdk; 
2. mf;Nlhgh; 7 - ePyfphp tiuahL jpdk; 
3. Mf];l; 7 - <l;b vhpjy; jpdk; 
4. Mf];l; 7 - Njrpa ifj;jwp jpdk; 
a. 1, 2, 3   b. 2, 3, 4   c. 1, 2, 3, 4 
d. ,it VJkpy;iy e. tpil njhpaty;iy 

 
65. Consider the following statements. 

I. J.M.Keynes and Harry Dexter White are the “Founding Fathers” of 
both the World Bank and International Monetary Fund. 

II. The IMF and World Bank were started in 1944. 
a. I, II are correct  b. I is correct   c. II is correct 
d. I, II are incorrect e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
I. J.M.fPd;]; kw;Wk; N`up nlf;];lu; ntha;l; MfpNahu;fs; cyf tq;fp 

kw;Wk; gd;dhl;L gz epjpak; Mfpa ,uz;ilAk; Njhw;Wtpf;ff; 
fhuzkhdtu;fshtu;. 

II. gd;dhl;L gzepjpak; kw;Wk; cyf tq;fp 1944-,y; njhlq;fg;gl;lJ. 
a. I, II rup   b. I rup     c. II rup 
d. I, II jtW   e. tpil njhpatpy;iy 

 
66. Ratio of ages of Muthu and Karthi at present is 5 : 3. But 6 years ago that 

ratio is 3:1. What is the ratio of their ages after 5  years? 
a. 5 : 4   b. 10 : 7   c. 10 : 8   
d. 4 : 3  e. Answer not known 
Kj;J kw;Wk; fhh;j;jp MfpNahhpd; jw;Nghija taJfspd; tpfpjk; 5:3. 

 Mdhy; 6 tUlq;fSf;F Kd; mJNt 3 : 1 vd ,Ue;jJ. vdpy;> 
 jw;NghjpypUe;J 5 tUlq;fSf;Fg; gpwF mth;fSila taJfspd; 
 tpfpjk; vd;dthf ,Uf;Fk;? 
 a. 5 : 4   b. 10 : 7   c. 10 : 8   

d. 4 : 3  e. tpil njhpatpy;iy 
 
67. Which of the following statements about WCED is/are correct? 

i) It was commissioned by United Nations with 22 people. 
ii) It was headed by Gro Harlem Brundland then the prime minister of 

Norway.  
iii) This commission submitted its report titled ‘our common future’ to 

the UN in 1989.  
a. i, ii and iii  b. i and ii    c. i and iii 
d. ii and iii   e. Answer not known 
WCED Fwpj;j $w;Wfspy; rhpahdJ vJ?  
i. ,ij If;fpa ehLfs; 22 egh;fSld; nfhz;l FOitf; nfhz;L 

cUthf;fpaJ.  
ii. ,J ehh;Nt ehl;bd; gpujkuhd f;Nuh `hh;yk; g;uz;l;yz;l; 

jiyikapd; fPo; nray;gl;lJ.  
iii. ,J jdJ mwpf;ifia ekJ "nghJthd vjph;fhyk;" vd;w jiyg;gpd; 

fPo; 1989-k; Mz;L If;fpa ehLfs; rigf;F rkh;g;gpj;jJ.  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. i kw;Wk; iii 
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
68. Which of the following is/are the effects of Global Warming? 

i) Melting of Glaciers  
ii) Rise in the level of oceans.  
iii) Prolonged droughts 
iv) Excessive Rain 
a. i, ii and iii   b. i, iii and iv   c. iii, iv and ii 
d. All the above  e. Answer not known 
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cyf ntg;gkakhjy; tpisTfs; Fwpj;j $w;Wfspy; rhpahdJ vJ / 
vit?  

i. gdp cUFjy;  

ii. fly; ePh; kl;lk; caUjy;  
iii. mjpf twl;rp  
iv. mjpf kio  

a. i, iii kw;Wk; v   b. i, iii kw;Wk; iv    c. iii, iv kw;Wk; v 
 d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

69. The Environmental clearance was mandatory for  
i) Mining  
ii) Thermal Power Plants  
iii) River Valley Projects  
iv) Nuclear Power Projects 
a. i, ii    b. iii, iv   c. i, ii, iv   
d. All the above  e. Answer not known 
Rw;Wr;#oy; mDkjpf;F fl;lhakhf ,Ug;gJ  
i. Ruq;fs;  
ii. mdy; kpd;epiyaj; jpl;lq;fs; 
iii. Mw;Wg; gs;sjhf;Fj; jpl;lq;fs;  

iv. mZ kpd; epiya jpl;lq;fs; 
a. i, ii   b. iii, iv   c. i, ii, iv   
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 

70. Choose incorrect pair 
a. Operation Ajay  - Israel 
b. Operation Cauvery  - Sudan 
c. Operation Ganga  - Ukraine 
d. None of these 
e. Answer not known 
jtwhd ,iziaf; fhz;f 
a. MgNu~d; m[a;  - ,];Nuy; 
b. MgNu~d; fhNthp  - #lhd; 
c. MgNu~d; fq;fh  - cf;iud; 

d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 

71. Choose correct pair regarding number of constituencies  
1. Madhya Pradesh - 230 
2. Rajasthan  - 200 
3. Chattisgarh  - 90 
4. Telangana  - 120 
a. 1, 2, 3   b. 4 alone   c. All of the above 
d. None of the above e. Answer not known 
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njhFjpfs; vz;zpf;if Fwpj;j rhpahd ,izfis fhz;f 
1. kj;jpa gpuNjrk; -  230 
2. ,uh[];jhd;  -  200 
3. rl;B];fh;  - 90 
4. njYq;fhdh  - 120 
a. 1, 2, 3   b. 4 kl;Lk;   c. ,it midj;Jk; 
d. ,it VJkpy;iy e. tpil VJkpy;iy 

 
72. The mean of the 5 number is 32. If one of the numbers is excluded, then 

the mean is reduced by 4. Find the excluded number.  
a. 46  b. 50  c. 52  d. 48  e. Answer not known 
5 vz;fspd; ruhrhp 32. mt;ntz;fspy; xd;iw ePf;Fk; NghJ> ruhrhpapy; 4 
Fiwe;jhy; ePf;fg;gl;l vz;iz fhzTk;.  
a. 46  b. 50  c. 52  d. 48  e. tpil njhpatpy;iy 

 
73. Which of the following statements about WTO is/are correct? 

i. It was established in 1995 as a successor to the GATT. 
ii. The Dunkel Draft, formulated by Arthur Dunkel became the base for 

WTO. 
iii. The first WTO conference was held at Singapore in 1996. 
a. i, ii   b. i, iii     c. ii, iii   
d. i, ii, iii  e. Answer not known 
cyf tu;j;jf epWtdk; (WTO) gw;wpa rupahd $w;Wfs; vit? 
i. 1995-Mk; Mz;by; GATT MdJ cyf tu;j;jf mikg;G vd 

cUthdJ. 
ii. cyf tu;j;jf mikg;gpd; mbj;jskhd lq;fy; tiuT Mu;ju; lq;fy; 

mtu;fshy; tbtikf;fg;gl;lJ. 
iii. WTO Kjy; khehL 1996,y; rpq;fg;G+upy; eilngw;wJ. 
a. i, ii   b. i, iii     c. ii, iii   
d. i, ii, iii  e. tpil njhpatpy;iy 

 
74. Consider the following statements. 

I. Every tax involves some sacrifice on part of the tax payer. 
II. A tax is levied as a fine or penalty for breaking law. 
a. I, II are correct  b. I is correct   c. II is correct 
d. I, II are incorrect e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. xt;nthU tupAk; tup nrYj;JNthupd; jpahfj;ij cs;slf;fpaJ. 
II. tupahdJ rl;lj;ij kPwpajw;fhf Rkj;jg;gLk; jz;lj;njhif Nghd;W 

tpjpf;fg;gLfpwJ. 
a. I, II rup   b. I rup     c. II rup  
d. I, II jtW   e. tpil njhpatpy;iy 
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75. Which of the following statements is/are incorrect? 
i) Males are especially at risk of drowning with twice the mortality rate 

of females.  
ii) Drowning accounts for 60% of deaths in flood disasters. 
a. Both I and II  b. I only    c. II only  
d. None   e. Answer not known 
gpd;tUdtw;Ws; vJ / vit jtwhdJ? 
i. ngz;fspd; ,wg;G tpfpjj;ij tpl Mz;fs; ,Uklq;F %o;Ftjhy; 

,wf;Fk; Mgj;jpypUf;fpwhh;fs;.  
ii. nts;sg; Nghplh;fspd; NghJ 60% ,wg;Gfs; %o;Fjyhy; elf;fpd;wd. 
a. I kw;Wk; II   b. I kl;Lk;     c. II kl;Lk;  
d. vJTkpy;iy   e. tpil njhpatpy;iy 

 
76. Consider the following statements: 

I. Destruction of trees is increasing the effect of global warming. 
II. The extinction of animals are severely disrupting food webs and 

causing an increase in pests. 
a. Both are correct  b. I only is correct   c. II only is correct  
d. Both are incorrect e. Answer not known 
gpd;tUk; thf;fpaq;fis ftdpf;f  
I kuq;fis mopg;gjhy; cyf ntg;gkakhjypd; tpisT mjpfhpj;J 

tUfpwJ.  
II tpyq;fpdq;fspd; mopT czT tiyfisg; ghjpj;J njhy;iy jUk; 

g+r;rpfspd; vz;zpf;ifia mjpfhpf;fpwJ.  
a. ,uz;Lk; rhp   b. I kl;Lk; rhp    c. II kl;Lk; rhp 
d. ,uz;Lk; jtW  e. tpil njhpatpy;iy 

 

77. The sum of the present ages of a mother and his son is 68 years. Six years 
hence, the ratio will be 11:5 then the present age of mother is.  
a. 50 years    b. 49 years    c. 48 years    
d. 45 years     e. Answer not known 
mk;kh kw;Wk; mtUila kfdpd; jw;Nghija tajpd; $Ljy; 68 
tUlq;fs;. MW tUlq;fSf;Fg; gpwF 11 : 5 vdpy; mk;khtpd; jw;Nghija 
taJ?  
a. 50 years    b. 49 years    c. 48 years    
d. 45 years     e. tpil njhpatpy;iy 

 

78. Consider the following statements. 
Assertion (A): The cost of collection of direct taxes is relatively low. 
Reason (R): The tax payers pay this tax directly to the state. 
a. Both (A) and (R) are true and (R) is the correct explanation of (A). 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. Both (A) and (R) are true and (R) is not the correct explanation of (A). 
e. Answer not known 
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gpd;tUtdtw;iw Muha;f. 
$w;W (A): Neu;Kf tupfis t#ypg;gjw;fhd nryT kw;w tupfis 
xg;gpLifapy; FiwT. 
fhuzk; (R): ,t;tupapy; tup nrYj;Jgtu;fs; Neubahf murpw;F tup 

nrYj;Jfpd;wdu;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk;. 
b. (A) rup> Mdhy; (R) jtW 
c. (A) jtW> Mdhy; (R) rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd 

tpsf;fk; my;y 
e. tpil njhpatpy;iy 

 
79. Match the following 

A. SDG 10 - 1. Life below water 
B. SDG 13 - 2. Reduce inequalities 
C. SDG 14 - 3. Life on Land 
D. SDG 15 - 4. Climate action 

A B C D 
a.  1 3 4 2 
b.  2 4 3 1 
c.  2 4 1 3 
d.   3 1 2 4 
e. Answer not known 
nghUj;Jf. 
A. SDG 10 - 1. ePUf;fbapy; tho;f;if 
B. SDG 13 - 2. Vw;wj;jho;T Fiwg;G 
C. SDG 14 - 3. epyg;gFjpapy; tho;f;if 
D. SDG 15 - 4. jl;gntg;gepiy eltbf;if 

A B C D 
a.  1 3 4 2 
b.  2 4 3 1 
c.  2 4 1 3 
d.   3 1 2 4 
e. tpil njhpatpy;iy 

 
80. Match the following. 

A. Gandhian plan  1. S.N. Agarwal 
B. People’s plan  2. J.P. Narayan 
C. Sarvodya plan  3. M.N. Roy 
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A B C  
a.  1 2 3 
b.  2 3 1 
c.  1 3 2 
d.  3 1 2 
e. Answer not known 
nghUj;Jf. 
A. fhe;jpaj;jpl;lk;  1. S.N. mfu;thy; 

B. kf;fs; jpl;lk;  2. J.P. ehuhaz; 
C. ru;Nthjpahjpl;lk; 3. M.N. uha; 

A B C  
a.  1 2 3 
b.  2 3 1 
c.  1 3 2 
d.  3 1 2 
e. tpil njhpatpy;iy 

 
81. Sachin is younger than Rahul by 4 years. If their ages are in the respective 

ratio of 7 : 9, how old is Sachin ?                                                          
a. 16 year   b. 18 years   c. 28 years   
d. None of these  e. Answer not known 
rr;rpd; uhFiytpl 4 taJ ,isath;. ,Uthpd; taJ tpfpjk; 7 : 9 
vdpy; rr;rpdpd; taJ vd;d?  
a. 16 year   b. 18 years    c. 28 years   
d. None of these  e. tpil njhpatpy;iy 

 

82. Dhordo village in Gujarath is awarded with Best Tourism village by _____ 
a. Ministry of Tourism, Government of India 
b. Gujarath Government 
c. World Tourism Organization 
d. World Trade Organization 
e. Answer not known 
F[uhj;jpy; cs;s Njhu;Nlh fpuhkj;jpw;F rpwe;j Rw;Wyh fpuhk tpUJ 
toq;fpaJ _______ 
a. ,e;jpa Rw;Wyh mikr;rfk;  b. F[uhj; muR 
c. cyf Rw;Wyh epWtdk;  d. cyf th;j;jf epWtdk; 

e. tpil njhpatpy;iy 
 

83. Orbital period of Mars is ____ days. 
a. 88   b. 224.7    c. 365.3   
d. 687   e. Answer not known 
nrt;tha; fpufj;jpd; Rw;Wg;ghij fhyk; ____ ehl;fs; 
a. 88   b. 224.7    c. 365.3   
d. 687   e. tpil njhpatpy;iy 
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84. The Indian economy is characterized by 
a. Rapid economic growth b. Jobless growth  c. Both a and b 
d. None    e. Answer not known 
,e;jpa nghUshjhuk; ve;j gz;igf; nfhz;Ls;sJ? 
a. mjpNtf nghUshjhu tsh;r;rp b. Ntiytha;g;gw;w tsh;r;rp  
c. a kw;Wk; b    d. vJTkpy;iy    

e. tpil njhpatpy;iy 
 

85. Name the 90th Chapter of Kural 
a. The Zeal    b. Evils of Killing 
c. Respect for Elders  d. Compassion  
e. Answer not known 
jpUf;Fwspy; 90tJ mjpfhuk; vJ? 
a. Cf;fKilik   b. nfhy;yhik 
c. nghpahiu gpioahik  d. ,tw;Ws; VJTkpy;iy  
e. tpil njhpatpy;iy 

 
86. When insurmountable difficulties will come? 

a. Lack of Zeal   b. Not respecting elders 
c. Not controlling tongue  d. Laziness  
e. Answer not known 
vjdhy; ngUk;Jd;gk; cz;lhFk;? 
a. Cf;fkpd;ikahy;  b. nghpNahiu kjpahikahy; 
c. ehtlf;fkpd;ikahy;  d. kbapdhy; 
e. tpil njhpatpy;iy 

 
87. ____ was the first Planet located through mathematical calculations 

a. Jupiter  b. Uranus    c. Neptune   
d. Saturn  e. Answer not known 
fzpjf; fzf;fPLfs; %yk; ,lQ;Rl;lg;gl;l Kjy; fpufk; ___ MFk;. 
a. tpahod;  b. ANud];   c. neg;bA+d;   
d. rdp  e. tpil njhpatpy;iy 
 

88. The only moon with clouds and atmosphere is ___ 
a. Ganymede b. Deimos    c. Titan   
d. Phobos  e. Answer not known 
Nkfq;fSk; tspkz;lyKk; nfhz;l xNu epyT ___ MFk;. 

a. fdpkPL  b. nla;Nkh];   c. ill;ld;   
d. NghNgh]; e. tpil njhpatpy;iy 
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89. The average of runs of a cricket player in 10 innings was 32. How many 
runs must he make in his next innings so as to increase his average of runs 
by 4? 
a. 2  b. 4  c. 76  d. 36  e. Answer not known 
xU kl;ilge;jhl;lf;fhuh; 10 Ml;lq;fspy; ruhrhpahf 32 Xl;lq;fs; 
vLf;fpwhh;. mLj;j Ml;lj;jpy; vj;jid Xl;lq;fs; vLj;jhy; mtUila 
ruhrhp Xl;lk; 4 mjpfhpf;Fk;?  
a. 2  b. 4  c. 76  d. 36  e. tpil njhpatpy;iy 

 
90. The optimum temperature required for coral growth is _____ Celsius 

a. 20 - 25  b. 23 - 29   c. 25 - 30   

d. 30 - 35  e. Answer not known 
flw;gtsq;fs; tsu;tjw;F cfe;j ntg;g epiy ____ MFk;. 

a. 20 - 25  b. 23 - 29   c. 25 - 30   

d. 30 - 35  e. tpil njhpatpy;iy 
 

91. Choose incorrect pair about Tiger Reserves  
a. Valmiki   - Bihar 
b. Veeragana Durgavati - Madhya Pradesh 
c. Dholpur - Karauli - Rajasthan 
d. Ramgarh Vishdhari - Uttar Pradesh 
e. Answer not known 
Gypfs; ghJfhg;gfk; Fwpj;j jtwhd ,iziaj;Njh;f 
a. thy;kPfp   - gPfhh; 
b. tPuhfdh Jh;fhtjp - kj;jpa gpuNjrk; 

c. Njhy;g+h; fnusyp - ,uh[];jhd; 
d. uhk;fh; tp~;jhhp  - cj;jpugpuNjrk; 
e. tpil njhpatpy;iy 

 

92. Nari Shakti Vandan Adhiniyam bill received president assent on ____ 
a. September 28, 2023 b. September 29, 2023 c. September 30, 2023 
d. October 1, 2023  e. Answer not known 
ehup rf;jp te;jd; Mjpdpak; kNrhjh ______ md;W FbauRj; jiytupd; 
xg;Gjiyg; ngw;wJ. 
a. nrg;lk;gh; 28> 2023 b. nrg;lk;gh; 29> 2023 c. nrg;lk;gh; 30> 2023 
d. mf;Nlhgh; 1> 2023 e. tpil njhpatpy;iy 

 

93. Let no liquor be drunk; if it is desired, let it be drunk by those  
____________ 
a. care not for esteem of the wise. 
b. care for esteem of the wise 
c. The one who wants to have familiarity with the noble 
d. None of these 
e. Answer not known 
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fs;is cz;zf;$lhJ> mg;gb cz;z Ntz;Lnkdpy; ahh; cz;zyhk;?  
a. rhd;Nwhhplk; kjpg;G ngw tpUk;ghjth;  
b. rhd;Nwhhplk; kjpg;G ngw tpUk;Ggth;  
c. rhd;Nwhhplk; gioik ghuhl;l tpUk;Ggth;  
d. ,it Vjkpy;iy  
e. tpil njhpatpy;iy  

 
94. The fair maid of _______ will turn her back on those who are guilty of the 

great and abominable crime of drunkenness. 
a. madam  b. madandhai  c. nanam 
d. mangai  e. answer not known 
____________ vd;W nrhy;yg;gLk; ey;yts;> fs; vd;W nrhy;yg;gLk; 
tpUk;gj;jfhj ngUq;Fw;wk; cilath;f;F vjpNu epw;fhky; nry;ths;.  
a. klk;  b. kle;ij   c. ehzk;  
d. kq;if   e. tpilnjhpatpy;iy  

 
95. Find the average of all prime Numbers Between 30 and 50  

a. 39.1   b. 41.5   c. 39.8   
d. 37.4   e. Answer not known 
30 kw;Wk; 50-w;F ,ilNa cs;s gfh vz;fspd; ruhrhp fhz;f.  
a. 39.1   b. 41.5   c. 39.8   
d. 37.4   e. tpil njupatpy;iy 

 
96. Who introduced permanent settlement act in 1793. 

a. William Bentick b. Lord Cornwallis c. Robert Martins Bird 
d. Holt Mackenzie e. Answer not known 
epue;ju jPh;T rl;lj;ij 1793 y; mwpKfg;gLj;jpath; ahh;? 
a. tpy;ypak; ngd;bf;   b. fhud; thyp]; gpuG 
c. ,uhgh;l; khh;bd;]; ngh;l;  d. N`hy;l; nkf;fd;rP 

e. tpil njhpatpy;iy 
 

97. Which of the following is not a factor of privatization? 
a. Denationalization  
b. Disinvestment 
c. Deregulation   
d. Opening public sector enterprises to Private sector 
e. Answer not known 
gpd;tUtdtw;Ws; vJ jdpahh; kakhjYf;fhd fhuzp my;y? 
a. ehl;Llikahf;Fjypd;ik  
b. muR KjyPLfs; Fiwg;G 

c. tpjpKiwj; jsh;j;jy;  
d. nghJj;Jiw epWtdq;fis jdpahh; Jiwf;F khw;wpaikj;jy; 
e. tpil njhpatpy;iy 
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98. Who coined the term Biodiversity hotspot? 
a. E.O. Wilson  b. F. Dasmann  c. Norman Myers  
d. Elton   e. Answer not known 
capupdg; gd;ik ts ikaq;fs; vd;fpw thu;j;ijia cUthf;fpath; 
ahu;? 
a. ,.X.tpy;rd;  b. vg;. lh];Nkd;  c. ehu;kd; iku;];  
d. vy;ld;   e. tpil njhpatpy;iy 

 
99. IUCN [International Union for Conservation of Nature] released the first 

Red List in ________ 
a. 1964  b. 1968    c. 1974   
d. 1978  e. Answer not known 
“,aw;ifia ghJfhf;Fk; ru;tNjr rq;fk;” (IUCN) vg;NghJ Kjy 
rptg;Gg; gl;baiy ntspapl;lJ? 
a. 1964  b. 1968    c. 1974   
d. 1978  e. tpil njhpatpy;iy 

 
100. How the Valluvar specifies the place of gambling? 

a. kavaru  b. kazhagam   c. kavadi 
d. netham  e. answer not known 
#jhLk; ,lj;ij jpUts;Sth; vt;thW Fwpg;gpLfpwhh;?  
a. ftW   b. fofk;    c. ftb 
d. nej;jk;  e. tpil njhpatpy;iy  

 
101. Ministry of Agriculture promulgated cold storage order under sec 3 of 

Essential Commodities Act, 1955 in the year. 
a. 1962   b. 1963   c. 1964 
d. 1965   e. Answer not known 
mj;jpahtrpag; nghUl;fs; rl;lk;(1955) %d;whk; gphptpd;gb Ntshz; 
mikr;rfk; Fsph;gjd fplq;F Miziag; gpwg;gpj;j Mz;L> 
a. 1962   b. 1963   c. 1964 
d. 1965   e. tpil njhpatpy;iy 

 
102. If x, 2x + 2, 3x + 3 are in G.P, then 5x, 10x + 10, 15x + 15 form 

a. an A.P.     b. a G.P.   c. a constant sequence  
d. neither A.P. nor a G.P.  e. Answer not known 
x, 2x + 2, 3x + 3  vd;gd xU ngUf;Fj; njhlh;thpirapypUg;gpd; 5x, 10x + 10, 
15x + 15  vd;w njhlh;thpirahdJ  
a. xU $l;Lj; njhlh;thpir  
b. xU ngUf;Fj; njhlh;thpir  
c. xU khwpypj; njhlh; thpir 
d. xU $l;Lj; njhlh;thpirAk; my;y ngUf;Fj; njhlh;thpirAk; my;y  
e. tpil njupatpy;iy 
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103. What was the Maximum sustained wind speeds that was recorded 
during Vardha Cyclone? 
a. over 110 km/hr  b. over 120 km/hr  c. over 130 km/h 
d. over 140 km/hr  e. Answer not known 
tu;jh Gaypd; NghJ fhw;wpd; mjpfgl;r NtfkhdJ xU kzp Neuj;jpw;F 
vj;jid fp.kPf;F Nky; gjpthfpAs;sJ? 
a. 110 fpkPf;F Nky; b. 120 fpkPf;F Nky; c. 130 fpkPf;F Nky; 
d. 140 fpkPf;F Nky; e. tpil njhpatpy;iy 

 
104. How much percentage in India is considered as drought prone area 

which receives rainfall between 750 mm and 1125 mm? 
a. 33% b. 35% c. 37% d. 39% e. Answer not known 
,e;jpahtpy; 750 kp.kP Kjy; 1125 kp.kP ,ilapyhd kionghoptpidg; 
ngWk; twl;rp gFjpfs; vj;jid rjtPjk; cs;sJ? 
a. 33% b. 35% c. 37% d. 39% e. tpil njhpatpy;iy 
 

105. Arrange Asiad 2023 medal winners in descending order. 
a. China > South Korea > Japan > India 
b. India > China > Japan > Thailand 
c. China > Japan > South Korea > Thailand 
d. China > Japan > South Korea > India 
e. Answer not known 
2023 Mrpa tpisahl;L Nghl;bapy; gjf;fk; ntd;w ehLfis ,wq;F  
tupirg;gLj;Jq;fs;. 
a. rPdh > njd; nfhhpah > [g;ghd; > ,e;jpah 
b. ,e;jpah > rPdh > [g;ghd; > jha;yhe;J 
c. rPdh > [g;ghd; > njd; nfhhpah > jha;yhe;J 
d. rPdh > [g;ghd; > njd; nfhhpah > ,e;jpah 
e. tpil njhpatpy;iy 

 
106. In excessive or deficient which one of the following may cause disease?  

a. flatulence  b. biliousness   d. phlegm 
d. all of these  e. Answer not known 
vit kpFe;jhYk; Fiwe;jhYk; Nehia cz;lhf;Fk;? 
a. tsp    b. moy;    c. Iak;  

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

107. According to Valluvar, when the body does not need medicine? 
a. when eating delicious food  
b. when eating nectar  
c. when eating food after digesting pre-eaten food 
d. when eating a balanced diet 
e. answer not known 
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vg;nghOJ clk;gpw;F kUe;J Ntz;bajpy;iy vd;W jpUts;Sth; 
$Wfpd;whh;?  

a. mWRit czit cz;Zk;nghOJ  
b. mkph;jj;ij cz;Zk;nghOJ  
c. Kd; cz;l czT> nrhpj;jgpd; czT cz;Zk; nghOJ  
d. rhptpfpj czit cz;Zk; nghOJ  
e. tpil njhpatpy;iy 

 
108. If 13 + 23 + 33 + ..... K3 = 4356 Find the value of K  

a. 11  b. 22  c. 33  d. 44  e. Answer not known  
13 + 23 + 33 + ..... K3 = 4356 vdpy; K-d; kjpg;G  
a. 11  b. 22  c. 33  d. 44           e. tpil njupatpy;iy 

 
109. According to 2011 census, how much population in rural areas are in 

BPL? 
a. 32 crores  b. 22 crores   c. 27 crores 
d. 19 crores  e. Answer not known 
2011 kf;fs; njhif fzf;nfLg;gpd;gb Cufg; gFjpfspy; cs;s kf;fspy; 
vj;jid Ngh; tWikf;Nfhl;bw;F fPo; cs;sdh;? 
a. 32 Nfhb  b. 22 Nfhb   c. 27 Nfhb  
d. 19 Nfhb  e. tpil njhpatpy;iy 
 

110. Who says that ‘An Indian farmer is born in debt, lives in debt, dies in 
debt and bequeaths debt’ 
a. Sir Malcolm Darling  b. Arthur Smities   
c. Sir Henry Lawrence  d. Henry Dexter White  
e. Answer not known 
“Xh; ,e;jpa cotd; fldpNy gpwe;J> fldpNy tho;e;J> fldpNy ,we;J> 
flidNa tpl;Lr; nry;fpwhd;” vd;W $wpath; ahh;? 
a. rh; khy;fk; lhh;ypq;  b. Mh;j;jh; ];ikl;b];  
c. rh; n`d;wp yhud;];  d. n`d;wp nlf;];lh; xapl;  
e. tpil njhpatpy;iy 
 

111. Ten most populous countries of the world together make up nearly 
________ of the world’s population.  
a. 40% b. 50% c. 60% d. 70% e. Answer not known 
cyfpy; gj;J kpf mjpf kf;fs;njhiff; nfhz;l ehLfs; Nru;e;J 
cyfpd; ___ kf;fs;njhifiaf; nfhz;Ls;sd. 
a. 40% b. 50% c. 60% d. 70% e. tpil njhpatpy;iy 

 
112. Suryavamsam Ninaivugal was award with ____ recently. 

a. Sahitya Akademi b. Saraswati Samman c. Jnanpith Award 
d. None of these  e. Answer not known 
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#h;atk;rk; epidTfs; rkPgj;jpy; _______ tpUJ ngw;wJ 
a. rhfpj;a mfhjkp b. ru];tjp rk;khd; c. QhdgPl tpUJ 
d. ,it VJkpy;iy e. tpil njhpatpyiy 

  
113. 26th National Conference on e-Governance was held in ____ 

a. Katra, Jammu & Kashmir b. Indore, Madhya Pradesh 
c. Surat, Gujarat   d. Bhopal, Madhya Pradesh 
e. Answer not known 
26tJ Njrpa kpd; MSif khehL eilngw;w ,lk; __________ 
a. fj;uh> [k;K & fh~;kPh; b. ,e;J}h;> kj;jpagpuNjrk; 
c. #uj;> F[uhj;   d. Nghghy;> kj;jpagpuNjrk; 
e. tpil njhpatpy;iy 

 
114. Even those who are exalted like a hill will be _______ , if they commit 

deeds that are debasing. 
a. mustard   b. atom    c. rice 
d. rosary pea  e. answer not known 
kiyNghy; cah;e;j epiyapy; cs;stUk; jho;Tf;Fk; fhuzkhd 
nray;fis xU ______ msT nra;jhYk; jho;e;J Ngha;tpLth; 

a. fLF  b. mZ    c. ney;kzp 
d. Fd;wpkzp e. tpil njhpatpy;iy 
 

115. Find x so that x + 6, x + 12 and x + 15 and are consecutive terms of a 
Geometric Progression.  
a. 18  b. 9  c. -18   d. -9   e. Answer not known 
x + 6, x + 12  kw;Wk; x + 15  vd;gd xU ngUf;Fj; njhlh;thpirapd; 
njhlh;r;rpahd %d;W cWg;Gfs; vdpy; x- apd; kjpg;igf; fhz;f.  
a. 18  b. 9  c. -18   d. -9            e. tpil njupatpy;iy 

 
116. Which of the following is not correct? 

a. The sex ratio of Tamil Nadu is 995. 
b. Tamil Nadu stands third next to Kerala and Puducherry is sex ratio. 
c. 20 districts have sex ratio of more than 1000. 
d. The sex ratio of India is 940. 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhdit vit? 
a. jkpo;ehl;bd; ghypd tpfpjk; 995 
b. ghypd tpfpjj;jpy; Nfush kw;Wk; GJr;Nrhpf;F gpd;dh; jkpo;ehL 

%d;whtjhf cs;sJ. 
c. 20 khtl;lq;fspd; ghypd tpfpjk; 1000 f;Fk; Nky; cs;sJ. 
d. ,e;jpahtpd; ghypd tpfpjk; 940 MFk;. 
e. tpil njhpatpy;iy 
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117. At present how many Maharatna and Navratna companies are there in 
India respectively? 
a. 14 & 15   b. 13 & 15   c. 13 & 16 
d. 14 & 16   e. Answer not known 
jw;NghJ ,e;jpahtpy; KiwNa vj;jid k`huj;dh kw;Wk; etuj;dh 
epWtdq;fs; cs;sd? 
a. 14 & 15   b. 13 & 15   c. 13 & 16 
d. 14 & 16   e. tpil njhpatpy;iy 

 
118. Ambedhkar statue of equality outside India is at ____ 

a. London, UK  b. Maryland, USA  c. California, USA 
d. Paris, France  e. Answer not known 
,e;jpahtpw;F ntspNa mk;Ngj;fupd; rkj;Jtj;jpw;fhd rpiy _______ ,y; 
cs;sJ 
a. yz;ld;> ,q;fpyhe;J  b. Nkhpyhd;L> mnkhpf;fh   
c. fyp/Nghh;dpah> mnkhpf;fh d. ghhp];> gpuhd;];   
e. tpil njhpatpy;iy 

 
119. Common prime factors of 30 and 250 are 

a. 2, 5  b. 3, 5  c. 2, 3, 5 d. 5, 5  e. Answer not known 
30 kw;Wk; 250 ,d; nghJ gfhf; fhuzpfisf; fhz;f 
a. 2, 5  b. 3, 5  c. 2, 3, 5 d. 5, 5  e. tpil njhpatpy;iy 
 

120. ______ is absence of conceit; meanness, we deem, 
Riding on car of vanity _______ 
a. Greatness, Supreme  b. Greatness, Meanness 
c. Meanness, Greatness  d. Meanness, Meanness 
e. Answer not known 
ngUik _______ ,d;ik rpWik 
_____ Ch;e;J tply; 
a. ngUkpjk;> ngUkpjk;  b. ngUkpjk;> rpWkpjk; 
c. rpWkpjk;> ngUkpjk;  d. rpWkpjk;> rpWkpjk; 
e. tpil njhpatpy;iy 

 
121. Rajapalayam is known for its 

a. Surgical cotton products. 
b. Safety matches 
c. Bore well drilling services 
d. Transportation and poultry 
e. Answer not known 
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,uh[ghisak; vjw;F mwpag;gLfpwJ? 
a. gUj;jp rhh;e;j kUj;Jt nghUl;fs; 
b jPg;ngl;b 
c. Mo;JisapLk; gzpfs; 
d. Nghf;Ftuj;J kw;Wk; Nfhopg;gz;iz 
e. tpil njhpatpy;iy 

 
122. “The concept of national income is an indispensable preparation for 

tackling the great issues of unemployment inflation and growth”. Who 
said this? 
a. Robertson  b. Samuelson   c. Ronald Fisher 
d. J.M. Keynes  e. Answer not known 
“ngupa gpur;ridfshd Ntiytha;g;G,d;ik> gztPf;fk; kw;Wk; tsu;r;rp 
Mfpatw;iw rkhspg;gjw;fhf jahupf;fg;gl;l jtpu;f;f Kbahj jahupg;Ng 
Njrpa tUtha; vDk; fUj;JU” vd;W $wpatu; ahu;? 
a. uhgu;l;rd;   b. rhKNty;rd;   c. nuhdhy;L gp~u; 

d. J.M. [Pd;];  e. tpil njhpatpy;iy 
 

123. If the median of a, 2a, 4a, 6a, 9a is 8. Then find the value of ‘a’ 
a. 8  b. 6  c. 2  d. 10  e. Answer not known 
a, 2a, 4a, 6a, 9a ,d; ,ilepiy 8 vd;why; ‘a’ ,d; ,ilepiyasT 
a. 8  b. 6  c. 2  d. 10  e. tpil njhpatpy;iy 

 
124. Net Domestic product is represented as  

a. GNP – Depreciation  b. NNP – Indirect taxes + subsidies 
c. GDP – Depreciation d. GDP + Net Factor income from Abroad 
e. Answer not known 
epfu cs;ehl;L cw;gj;jp vt;thW tiuaWf;fg;gLfpwJ? 
a. GNP – Nja;khdk;  
b. NNP – kiwKftup + khdpak; 
c. GDP – Nja;khdk;    
d. GDP + ntspehl;bypUe;J fpilf;Fk; epfu tUkhdk; 
e. tpil njhpatpy;iy 

 
125. Which is the largest producer of gold in the world? 

a. USA  b. China     c. South Africa   
d. Canada  e. Answer not known 
cyfstpy; jq;fk; cw;gj;jpapy; kpfg;ngupa ehL vJ? 
a. mnkupf;fh b. rPdh    c. njd; Mg;gpupf;fh  
d. fdlh  e. tpil njhpatpy;iy 

 
126. International year for eradication poverty ____ 

a. 1978 b. 1996 c. 1998 d. 1999 e. Answer not known 



 

37 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

tWik xopg;gpw;fhd rh;tNjr Mz;L __________ 
a. 1978 b. 1996 c. 1998 d. 1999 e. tpil njhpatpy;iy 

 
127. International Institute of Tamil studies was established on ____ 

a. October 20, 1969 b. October 20, 1970 c. October 21, 1970 
d. October 21, 1971 e. Answer not known 
ru;tNjr jkpo; Ma;T epWtdk; _______ md;W epWtg;gl;lJ. 
a. mf;Nlhgh; 20> 1969 b. mf;Nlhgh; 20> 1970 c. mf;Nlhgh; 21> 1970 

d. mf;Nlhgh; 21> 1971 e. tpil njhpatpy;iy 
 

128. According to Thiruvalluvar what is character of perfect man? 
a. goodness   b. eloquence   c. physical health 
d. mental health  e. answer not known 
rhd;Nwhhpd; eydhf jpUts;Sth; $WtJ vJ?  
a. Fzeyk;   b. eheyk;    c. cly;eyk;  
d. kjpeyk;   e. tpil njhpatpy;iy 
 

129. “Inflation is taxation without legislation” – who said this? 
a. J.M. Keynes  b. Robertson  c. Raghuram Rajan 
d. Milton Friedman e. Answer not known 
“gztPf;fk; rl;lG+u;tkw;w tuptpjpg;G” vd;W $wpatu;. 
a. J.M. fPd;];  b. uhgu;l;rd;   c. uFuhk;uh[d;  
d. kpy;ld; gpnuLNkd; e. tpil njhpatpy;iy 

 
130. India’s largest wind farm is located at _________ 

a. Kamuthi   b. Vadodara   c. Muppandal  
d. Aralvazhmozhi  e. Answer not known 
,e;jpahtpd; kpfg;ngupa fhw;whiyg; gz;iz mike;Js;s ,lk;? 
a. fKjp   b. tNjhjuh   c. Kg;ge;jy;   

d. Muy;tha;nkhop  e. tpil njhpatpy;iy 
 

131. Choose incorrect pair regarding Nobel Prize 2023 
a. Katalin Kariko  - Medicine 
b. Louis Brus  - Physics 
c. Alexey Ekimov  - Chemistry 
d. Jon Fosse  - Literature 
e. Answer not known 
Nehgy; ghpR 2023 Fwpj;j jtwhd ,iziaf; fhz;f 
a. fl;lhypd; fhpf;Nfh -  kUj;Jtk; 
b. Y}ap]; GU];  -  ,aw;gpay; 

c. mnyf;Nr vfpNkht; -  Ntjpay; 
d. N[hd; /Ngh];N] -  ,yf;fpak; 
e. tpil njhpatpy;iy 
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132. India’s first Green Energy Archaeological site ____ 
a. Agra Fort  b. Thanjavur temple c. Mahabalipuram 
d. Taj mahal  e. Answer not known 
,e;jpahtpd; Kjy; gRik Mw;wy; njhy;ypay; jsk; _______ 
a. Mf;uh Nfhl;il  b. jQ;rhT+h; Nfhtpy; c. kfhgypGuk; 
d. jh[;k`hy;  e. tpil njhpatpy;iy 

 
133. According to Valluvar what signifies relationship? 

a. people’s body   b. good characters 
c. good education   d. good friendship  
e. answer not known 
vJ xj;jpUj;jy; xg;ghFk; vd;W ts;Sth; $Wfpwhh;? 
a. kf;fspd; clk;G  b. epiwe;j gz;Gfs; 

c. xspnghUe;jpa fy;tp  d. Nkd;ik nghUe;jpa el;G 
e. tpil njhpatpy;iy 

 
134. If “ZGP” stands for “WIN” then “VMR” stands for 

a. WLS  b.  SOP   c. UPQ   
d. TAP  e. Answer not known 
“ZGP” vd;gJ “WIN”  vd;w thh;j;ijia Fwpj;jhy;> “VMR”  vd;gJ 
Fwpf;Fk; nrhy;   
a. WLS  b.  SOP   c. UPQ   
d. TAP  e. tpil njhpatp;y;iy 

  
135. He who does not enjoy the immense riches he has heaped up in his 

house, is __________ 
a. baseness   b. Wealth without benefaction  
c. Familiarity  d. The dread of Mendicancy  
e. Answer not known 
<l;ba nghUis ahtu;f;Fk; gad;glhky; G+l;bitj;Jg; ghJfhg;gJ ______ 
vd;W miof;fg;gLfpwJ. 
a. faik   b. ed;wpapy;nry;tk;  c. gioik  
d. ,utr;rk;   e. tpil njhpatpy;iy 
 

136. Which of the following function of money is considered as its basic 
function? 
a. Store of value   b. Measure of value   
c. Medium of Exchange  d. Basis of the credit system 
e. Answer not known 
gpd;tUtdtw;Ws; gzj;jpd; mbg;gilg; gzpahff; fUjg;gLtJ? 
a. kjpg;G epiyf;fsd;  b. kjpg;gsit    
c. ghpth;j;jidf; fUtp  d. flDf;fhd mbg;gil 

e. tpil njhpatpy;iy 
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137. The Indie cultural realm is called as paddy culture by 
a. D. Stamp   b. Baker     c. Weber  
d. Carl Ritter   e. Answer not known 
,e;jpa fyhr;rhuj;ij ney; fyhr;rhuk; vd;W mioj;jth; ahh;? 
a. b. ];lhk;g;  b. Ngf;fh;    c. ntgh;  
d. fhh;y; hpl;lh;  e. tpil njhpatpy;iy 

 
138. Tamil Nadu Government Samadhan scheme is related to ____ 

a. Public Grievance b. Commercial tax  c. Registration 
d. Social welfare  e. Answer not known 
jkpof murpd; rkhjhd; jpl;lk; vjDld; njhlh;GilaJ? 
a. nghJkf;fs; Fiw b. tzpf thp  c. gjpTj;Jiw 
d. r%f eyk;  e. tpil njhpatpy;iy 

 
139. karumaththaal naaNudhal naaNunh thirunhudhal 

nallavar naaNup piRa 
In this Kural the term Nudhal means 
a. eye   b. forehead    c. lips 
d. ears   e. answer not known 
fUkj;jhy; ehZjy; ehZe; jpUEjy;  
ey;yth; ehZg; gpw - vd;w Fwspy; tUk; "Ejy;" vd;w nrhy;;ypd; nghUs; 
vd;d?  
a. fz;    b. new;wp    c. cjL  

d. nrtp    e. tpil njhpatpy;iy 
 

140. Name the 96th Chapter of Kural 
a. The Zeal   b. Evils of Killing  c. Nobility   
d. None of these  e. Answer not known 
jpUf;Fwspy; 96tJ mjpfhuk; vJ? 
a. Cf;fKilik  b. nfhy;yhik  c. Fbik 
d. mUSilik  e. tpil njhpatpy;iy 

 
141. Which was the First Bank of India under British Rule? 

a. Bank of Bengal    b. Bank of Bombay  
c. Imperial Bank of India  d. Bank of Hindustan  
e. Answer not known  
nts;isau; Ml;rpapy; epWtg;gl;l ,e;jpahtpd; Kjy; tq;fp? 
a. tq;fhs tq;fp   b. Kk;ig tq;fp   
c. ,e;jpa ,k;gPupay; tq;fp d. ,e;J];jhd; tq;fp 
e. tpil njhpatpy;iy 

 
142. The Sekrenyi is the main festival of ________ 

a. Munda   b. Angami    c. Santhals   
d. Bhutia   e. Answer not known 
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rPf;Nudp ________ kf;fspilNa nfhz;lhlg;gLk; Kf;fpa jpUtpohthFk;.  

a. Kz;lh  b. mq;fhkp    c. rhe;jyh;fs;  
d. G+l;bah   e. tpil njhpatpy;iy 

 
143. The One Belt One Road (OBOR) is the new silk road of 

a. Russia   b. China     c. India    
d. Pakistan   e. Answer not known 
xNu kz;lyk; xNu rhiy ______ d; Gjpa gl;Lr; rhiy MFk; 

a. u~;ah  b. rPdh     c. ,e;jpah   
d. ghfp];jhd;  e. tpil njhpatpy;iy 

 
144. Global Maritime Summit 2023 was held in ____ 

a. Chennai   b. Kolkatta   c. Mumbai 
d. Surat    e. Answer not known 
cyfshtpa fly;rhu; cr;rpkhehL 2023 _____ ,y; eilngw;wJ 
a. nrd;id   b. nfhy;fj;jh  c. Kk;ig 
d. #uj;   e. tpil njhpatpy;iy 
 

145. If the words STOP, PEN and NEAR indicate 24, 10, 12.  Then how will the 
word “ROSE” be indicated? 
a. 19   b. 20    c. 18   
d. 22   e. Answer not known  
STOP = 24; PEN = 10; NEAR = 12 vdf; Fwpg;gpl;lhy; ROSE vd;gij 
vt;thW Fwpg;Nghk;? 
a. 19   b. 20    c. 18   
d. 22   e. tpil njupatpy;iy 

 
146. National Commission on Farmers in 2004 was set up under ____ 

a. Manmohan Singh b. M.S. Swaminathan  c. C. Rangarajan 
d. M.K Narayan  e. Answer not known 
2004Mk; Mz;L tptrhapfSf;fhd Njrpa Mizak; ahUila 
jiyikapy; mikf;fg;gl;lJ? 
a. kd;Nkhfd; rpq;  b. M.S. Rthkpehjd;  c. C. ,uq;fuh[d; 
d. M.K. ehuhaz;  e. tpil njhpatpy;iy 

 
147. Which of the following is/are an example of FDI? 

a. The construction of a new auto assembly plant overseas 
b. The acquisition of an existing steel plant overseas. 
c. The creation of a wholly owned business firm overseas 
d. All the above 
e. Answer not known 
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fPo;fz;litfspy; vit ntspehl;L Neub %yjdj;jpw;fhd cjhuzkhf 
$wyhk;? 
a. ntspehl;by; jd;D}u;jp Miy mikj;jy;. 
b. ntspehl;by; nray;gl;Lf; nfhz;bUf;fpw ,Uk;G cUf;F Miyia 

thq;Fjy;. 
c. ntspehl;by; xU Gjpa epWtdj;ij epWTjy;. 
d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

 
148. The buffer stock facility was started by IMF in the year ___. 

a. 1967 b. 1969 c. 1973 d. 1974 e. Answer not known 
gd;dhl;L gz epjpaj;jhy; jhq;fpUg;G trjp epWtg;gl;l Mz;L ____. 
a. 1967 b. 1969 c. 1973 d. 1974 e. tpil njhpatpy;iy 

 
149. The Multi Fibre Agreement was initiated in ____. 

a. 1969 b. 1974 c. 1981 d. 1995 e. Answer not known 
ehu;nghUl;fSf;fhd gd;Kf xg;ge;jk; epWtg;gl;l Mz;L ___. 
a. 1969 b. 1974 c. 1981 d. 1995 e. tpil njhpatpy;iy 

 
150. Chungthang Dam is located in  

a. Uttarkhand  b. Himachal Pradesh c. Arunachal Pradesh 
d. Sikkim   e. Answer not known 
Rq;jhq; miz mike;Js;s ,lk; _______ 
a. cj;jpufhz;l;  b. ,khr;ry gpuNjrk; c. mUzhr;ry gpuNjrk; 
d. rpf;fpk;   e. tpil njhpatpy;iy 
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